## Bid #OPN2115556B1 - Pavement Marking Materials

Start Date Nov 28, 2017 2:38:23 PM EST Awarded Date Not Yet Awarded

OPN2115556B101-01 PM SPA60 Surface Prep	paration Ad	hesive o	r Approved Equal			
Supplier	Ur	it Price	Qty/Unit	Total Price	Attch.	Docs
Osburn Associates Inc. [Ad]	First Offer	- \$52.50	60 / container	\$3,150.00		Υ
Product Code: Agency Notes:			Model: SPA60	Code: SPA60 Manufacturer : 3M cturers pass through		
Florida Transcor	First Offer -	\$245.00	60 / container	\$14,700.00		Υ
Product Code: Agency Notes:			Model: SPA-60 Warranty: 1 year	Code: Manufacturer : 3M Preparation Adhesive		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer -	\$273.00	60 / container	\$16,380.00		Υ
Product Code: Agency Notes:				Code: OPN2115556 Manufacturer: 3M paration Adhesive	B101-01	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Osburn Associates Inc. [Ad]	First Offer - \$944.93	92 / roll	\$86,933.56		Υ
Product Code: Agency Notes:	,	Supplier Produc Supplier Notes: Model: A381 IES			
Florida Transcor	First Offer - \$959.00	92 / roll	\$88,228.00		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Model: 380IE serie Warranty: 4 years PM Tape 6" X 100 y	<b>Manufacturer</b> : 3M s		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$1,016.00	92 / roll	\$93,472.00		Υ
Product Code: Agency Notes:				6B101-0	12

Exhibit 1 Page 2 of 8

OPN2115556B101-03 PM Tape 6" X 100 yd WI	THE SWI ASSO OF APP	Ovcu Equal			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Doc
Osburn Associates Inc. [Ad]	First Offer - \$944.93	33 / roll	\$31,182.69		Υ
Product Code:		Supplier Produc	t Code: A380 IES		
Agency Notes:			<b>Manufacturer</b> : 3M		
		Model: A380 IES			
		Warranty: manufa	acturers pass through		
F	F: . O	00 / "	<b>#04.047.00</b>	l I	· · · · · · · · · · · · · · · · · · ·
Florida Transcor	First Offer - \$959.00	33 / roll	\$31,647.00		Υ
Product Code:		Supplier Produc			
Agency Notes:			Manufacturer : 3M		
		Model: 380IE serie	S		
		Warranty: 4 years			
		PM Tape 6" X 100 y	d White 3M A380IE		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$1,016.00	33 / roll	\$33,528.00		Υ
Product Code:		Supplier Produc	t Code: OPN2115556	6B101-0	)3
Agency Notes:			Manufacturer : 3M		
		Model: PM Tape 6			
		Warranty: 2 years			
		6" X 100 yd White 3I			
		Florida Transcor			

OPN2115556B101-04 PM Tape 18" X 30 yd W	hite 3M A390 or Ap	proved Equal				
Supplier	Unit Price	ce Qty/Unit Total Price Attch.				
Osburn Associates Inc. [Ad]	First Offer - \$850.44	33 / roll	\$28,064.52		Υ	
Product Code: Agency Notes:		Model: A380 IES	Code: A380 IES Manufacturer: 3M cturers pass through			
Florida Transcor	First Offer - \$860.00	33 / roll	\$28,380.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes: I Model: 380IE series Warranty: 1 year PM Tape 18" X 30 yo	Manufacturer : 3M			
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$915.00	33 / roll	\$30,195.00		Υ	
Product Code: Agency Notes:				B101-04		

<b>OPN2115556B101-</b> 05 PM Tape 24" X 30 yd White 3M A390 or Approved Equal							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Osburn Associates Inc. [Ad]	First Offer - \$1,133.92	100 / roll	\$113,392.00		Υ		
Product Code:		Supplier Produc	t Code: A380 IES				
Agency Notes:		Supplier Notes:	Manufacturer : 3M				

Exhibit 1 Page 3 of 8

	County Commission	ers		
		Model: A380 IES Warranty: manufa	acturers pass through	
Florida Transcor	First Offer - \$1,150.00	100 / roll	\$115,000.00	Υ
Product Code: Agency Notes:		Model: 380IE serie Warranty: 1 year	Manufacturer : 3M	
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$1,215.00	100 / roll	\$121,500.00	Υ
Product Code: Agency Notes:				

OPN2115556B101-06 PM Tape 18" X 30 yd Ye	ellow 3M A391 or Ap	proved Equal			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Osburn Associates Inc. [Ad]	First Offer - \$850.44	33 / roll	\$28,064.52		Υ
Product Code: Agency Notes:		Model: A381 IES	Code: A381 IES Manufacturer : 3M cturers pass through		
Florida Transcor	First Offer - \$860.00	33 / roll	\$28,380.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model: 380IE Warranty: 1 year PM Tape 18" X 30 yo 3M A380IE	Manufacturer : 3M		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$915.00	33 / roll	\$30,195.00		Υ
Product Code: Agency Notes:				B101-06	

OPN2115556B101-07 PM Arrow Left 3M SMS-	L380IES-LA or Appro	ved Equal			
Supplier	Unit Price	Qty/Unit Total Price		Attch.	Docs
Florida Transcor	First Offer - \$997.00	133 / package	\$132,601.00		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Model: 380IE Warranty: 2 years PM Arrow Left 3M S	Manufacturer : 3M		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$1,069.00	133 / package	\$142,177.00		Υ
Product Code: Agency Notes:			t Code: OPN2115556 Manufacturer : 3M ES-LA		)7

Exhibit 1 Page 4 of 8

	County Commissione	ers			
		Warranty: 2 years Left Curve Arrow FL Transcor			
Osburn Associates Inc. [Ad]	First Offer - \$1,244.45	133 / package	\$165,511.85	Υ	
Product Code: Agency Notes:		Supplier Notes: Model: SMS-L3801	et Code: SMS-L380IES-LA Manufacturer : 3M ES-LA acturers pass through		

<b>OPN2115556B101-</b> 08 PM Arrow Right 3M SMS	-L380IES-RA or App	roved Equal			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Florida Transcor	First Offer - \$997.00	67 / package	\$66,799.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model: 380IE Warranty: 2 years PM Arrow Right 3M	Manufacturer : 3M		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$1,069.00	67 / package	\$71,623.00		Υ
Product Code: Agency Notes:					10
Osburn Associates Inc. [Ad]	First Offer - \$1,244.45	67 / package	\$83,378.15		Υ
Product Code: Agency Notes:		Supplier Notes: Model: SMS-L3801	et Code: SMS-L380IES Manufacturer : 3M ES-RA acturers pass through		

OPN2115556B101-09 PM Tape 12" X 30 yd W	hite 3M A3	90 or Ap	proved Equal			
Supplier	Uı	nit Price	Qty/Unit	Total Price	Attch.	Docs
Osburn Associates Inc. [Ad]	First Offer -	\$566.96	266 / roll	\$150,811.36		Υ
Product Code: Agency Notes:			Model: A390	t Code: A390 Manufacturer : 3M cturers pass through		
Florida Transcor	First Offer -	\$569.00	266 / roll	\$151,354.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I Model: 380IE Warranty: 1 year PM Tape 12" X 30 yo	Manufacturer : 3M		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer -	\$610.00	266 / roll	\$162,260.00		Υ
Product Code: Agency Notes:					B101-09	

Exhibit 1 Page 5 of 8

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Doc
Florida Transcor	First Offer - \$680.00	17 / package	\$11,560.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I Model: 380IE Warranty: 2 years PM Arrow Straight 3	Manufacturer : 3M		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$731.00	17 / package	\$12,427.00		Υ
Product Code: Agency Notes:			t <b>Code:</b> OPN2115556 <b>Manufacturer</b> : 2M ES-SA	B101-10	
Osburn Associates Inc. [Ad]	First Offer - \$850.64	17 / package	\$14,460.88		Υ
Product Code: Agency Notes:		Supplier Notes: I Model: SMS-L380IE	t Code: SMS-L380IES- Manufacturer : 3M :S-SA acturer pass through	-SA	

OPN2115556B101-11 PM Only 3M SMS-L380IE	DPN2115556B101-11 PM Only 3M SMS-L380IES-ON or Approved Equal								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Florida Transcor	First Offer - \$800.00	23 / package	\$18,400.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer : 3M Model: 380IES Warranty: 2 years PM Only 3M SMS-L380IES-ON								
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$861.00	23 / package	\$19,803.00		Υ				
Product Code: Agency Notes:					1				
Osburn Associates Inc. [Ad]	First Offer - \$1,000.30	23 / package	\$23,006.90		Υ				
Product Code: Agency Notes:		Supplier Notes: Model: SMS-L3801	et Code: SMS-L380IES Manufacturer : 3M ES-ON acturer pass through						

OPN2115556B101-12 PM School 3M SMS-L380IES-SC or Approved Equal								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Florida Transcor	First Offer - \$655.00	23 / package	\$15,065.00		Υ			
Product Code: Agency Notes:  Supplier Product Code: Supplier Notes: Manufacturer : 3M Model: 380IES Warranty: 2 years PM School 3M SMS-L380IES-SC								
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$705.00	23 / package	\$16,215.00		Υ			
Product Code: Supplier Product Code: OPN2115556B101-12								

Exhibit 1 Page 6 of 8

	County Commissio				
Agency Notes:	Supplier Notes: Manufacturer: 3M Model: SMS-L380IES-SC Warranty: 2 Years SCHOOL Legend, 8 ft. FL Transcor				
Osburn Associates Inc. [Ad]	First Offer - \$819.13	23 / package	\$18,839.99	Y	
Product Code:		Supplier Product	Code: SMS-L380IES-	SC	
Agency Notes:		Supplier Notes: Manufacturer : 3M			
		Model: SMS-L380IES-SC			
		Warranty: manufa	cturer pass through		

Supplier	Uni	it Price	Qty/Unit	Total Price	Attch.	Docs
Florida Transcor	First Offer -	\$239.00	12 / package	\$2,868.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes: I	Manufacturer : 3M		
			Model: 380IES			
			Warranty: 2 years			
			PM Letter R 3M SMS	S-L380IES-R		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer -	\$257.75	12 / package	\$3,093.00		Υ
Product Code:			Supplier Product	Code: OPN2115556	B101-13	
Agency Notes:			Supplier Notes: I	Manufacturer : 3M		
			Model: SMS-L380IE	S-R		
			Warranty: 2 years			
			Letter "R" for Railroa	nd Crossing		
			FL Transcor			
Osburn Associates Inc. [Ad]	First Offer -	\$299.29	12 / package	\$3,591.48		Υ
Product Code:			Supplier Product	Code: SMS-L380IES	-R	
Agency Notes:			Supplier Notes: I	Manufacturer : 3M		
			Model: SMS-L380IE	:S-R		
			Warranty: manufa	cturer pass through		

OPN2115556B101-14 PM Merge 3M SMS-L380	IES-ME or Approved	Equal			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Florida Transcor	First Offer - \$847.00	17 / each	\$14,399.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer : 3M Model: 380IES Warranty: 2 years PM Merge 3M SMS-L380IES-ME				
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$908.00	17 / each	\$15,436.00		Υ
Product Code: Agency Notes:				4	
Osburn Associates Inc. [Ad]	First Offer - \$1,055.42	17 / each	\$17,942.14		Υ
Agency Notes:		Supplier Notes: Model: SMS-L3801	t Code: SMS-L380IES Manufacturer : 3M ES-ME caturer pass through		

Exhibit 1 Page 7 of 8

<b>OPN2115556B101-</b> 15 PM Bus 3M SMS- <b>L380IE</b>	S-BU or Approved	Equai			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Osburn Associates Inc. [Ad]	First Offer - \$0.00	10 / each	\$0.00		Υ
Product Code: Agency Notes:	Supplier Product Code: SMS-L380IES-ME Supplier Notes: Manufacturer : 3M Model: SMS-L380IES-ME Warranty: manufacturer pass through No bid this line item				
Florida Transcor	First Offer - \$604.00	10 / each	\$6,040.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I Model: 380IES Warranty: 2 years PM Bus 3M SMS-L38	Manufacturer : 3M		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$650.00	10 / each	\$6,500.00		Υ
Product Code: Agency Notes:			: <b>Code:</b> OPN2115556 <b>Manufacturer</b> : 3M :S-BU	B101-15	

OPN2115556B101-16 PM Bicycle Symbol SMS	-3M L380IES	-LK6 o	r Approved Equal			
Supplier	Unit	Price	Qty/Unit	Total Price	Attch.	Docs
Florida Transcor	First Offer - \$	466.00	17 / package	\$7,922.00		Υ
Product Code: Agency Notes:			Model: 380IES Warranty: 2 years	Code: Manufacturer : 3M SMS-3M L380IES-LK6		
Airport And Commercial Equipment Suppliers, Inc. [Ad]	First Offer - \$	502.00	17 / package	\$8,534.00		Υ
Product Code: Agency Notes:					B101-16	
Osburn Associates Inc. [Ad]	First Offer - \$	582.84	17 / package	\$9,908.28		Υ
Product Code: Agency Notes:			Supplier Notes: I Model: SMS-L380IE	Code: SMS-3M- L38 Manufacturer: 3M SS cturer pass through	OIES-LK6	

OPN2115556B101-17 PM Bicycle Arrow SMS-3M L380IES-A6 or Approved Equal								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Florida Transcor	First Offer - \$214.00	17 / package	\$3,638.00		Υ			
Product Code: Agency Notes:  Supplier Product Code: Supplier Notes: Manufacturer : 3M Model: 380IES Warranty: 2 years PM Bicycle Arrow SMS-3M L380IES-A6								

Head

Attch:

Exhibit 1 Page 8 of 8

Broward County Board of County Commissioners							OPN2
Airport And Co	ommercial Equipment Suppliers, Inc. [Ad]	First Offer - \$	\$230.00	17 / package	\$3,910.00		Υ
Product Coo Agency Note			\$   		5	)B101-1	7
Osburn Associ	ates Inc. [Ad]	First Offer - \$	\$275.68	17 / package	\$4,686.56		Υ
Product Cod Agency Note			5	Supplier Notes: Model: SMS-L380	ct Code: SMS-3M-L38 Manufacturer : 3M IES-A6 facturer pass through	0IES-A6	
Supplier To				\$73	36,981.00 (17/17	' items)	
Bid Contact	Susan Wacha susan.wacha@fltranscor.com Ph 904-783-3302		Add	ress 6683 Stur Jacksonv	·	·	
Bid Notes	We are an authorized dealer for	3M. Price is	deliver	ed.			
Agency No	tes:		We a	plier Notes: are an authorized ered.	d dealer for 3M. Price	is	Head Attch:
f Osburn /	Associates Inc. [Ad]			\$782,924.8	38 (17/17 items)		
Bid Contact	Jennifer L Treadway melindat@osburns.com Ph 740-385-6869 Fax 740-385-8016		Add	ress po box 91 logan, Ol			
Agency No	tes:		Sup	plier Notes:		Head A	Attch:
f Airport A	And Commercial Equipment Supp	liers, Inc. [Ad	i]	\$787,	248.00 (17/17 it	ems)	
Bid Contact	Fadi Soubra fadisoubra@myacc.net Ph 954-755-9330		Ac	dba A.C	N 124th Ave ste 1 .E.S., Inc. prings, FL 33065	32	
Qualification	s CBE DBE SB SBE SBE/CBI	E APPLICATION	NC				

Agency Notes:

**Supplier Notes:**